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Directions (1 – 3) : In each of the following
questions, select the related letter/word/

number from the given alternatives.

funsZ'k (1 & 3) % fuEu izR;sd iz'u esa fn, x, fodYiksa esa ls
lEcfU/r v{kj@'kCn@la[;k dks pqfu,A
1. CURE : DISEASE : : HEAL : ?

bykt : jksx : : Hkj tkuk : ?
(A) ILLNESS/chekjh (B) INJURY/pksV
(C) RECOVER/LoLF; (D) SICK/vLoLFk

2. Pesticide : Plant : : ? : ?

dhVuk'kd % ikS/k % % \ % \
(A) Medicine : Cure/vkS"kf/ % mipkj
(B) Injection : Fever/batsD'ku % Toj
(C) Vaccination : Baby/Vhdkdj.k % f'k'kq
(D) Sinarest : Cold/flukjsLV % tqdke

3. 63 : 9 : : 68 : ?
(A) 14 (B) 8
(C) 6 (D) 13

Directions (4 – 6) : Find the odd word/letters/
number pair/number from the given

alternatives.

funsZ'k (4 & 6)% fn;s x, fodYiksa esa ls fo"ke 'kCn@v{kj@la[;k
;qXe@la[;k dks pqfu,A
4. (A) Book/fdrkc (B) Paper /dkxt

(C) Pen /dye (D) Pencil/isafly
5. (A) Barber/ukbZ (B) Carpenter /c<+bZ

(C) Tailor /nthZ (D) Blacksmith/yqgkj
6. (A) AG (B) WA

(C) ET (D) IQ
7. Arrange the following words as per the order

in the dictionary.

fuEufyf[kr 'kCnksa dks 'kCndks'k ds vuqlkj Øe esa fy[ksaA
1. RESIGN 2. REPAIR
3. RESIDUE 4. RESEARCH
5. RESCUE
(A) 4, 5, 3, 2, 1 (B) 2, 5, 4, 3, 1
(C) 2, 5, 4, 1, 3 (D) 5, 4, 3, 1, 2

Directions (8-10) : In the following questions,

a series is given with one terms missing.

Choose the correct alternative from the given

ones that will complete the series:

funsZ'k (8-10) % fuEufyf[kr iz'uksa esa] ,d vuqØe fn;k x;k
gS ftlesa ,d in yqIr gSA fn, x, fodYiksa esa ls og lgh
fodYi pqfu, tks vuqØe dks iwjk djsaA
8. 1, 9, 17, 33, 49, 73,  _____

(A) 93 (B) 95

(C) 97 (D) 99

9. 2, 5, 7, 12, 19,  _____

(A) 21 (B) 26

(C) 29 (D) 31

10. _ b c  c b _ a b c _ b a a _ c

(A) abcc

(B) aacb

(C) acbc

(D) bcac

Direction (11-13) : In question no 11 to 13,

select the missing number from the give

responses.

funsZ'k (11-13) : iz'u la[;k 11 ls 13 esa] fn, x, fodYiksa
esa lsa foyqIr la[;k pqfu,A

11. 4
5 3

30 ?
68

(A) 122 (B) 58

(C) 130 (D) 125

12. 4    2   10
6    4   67
10  ?   32

(A) 3 (B) 7

(C) 9 (D) 5

13. 3        2
10

10      5

4        7
10

6 3

4       8
?

3      5

(A) 10 (B) 20

(C) 5 (D) 35

14. Ashok walks 10 metres towards North from

his home, turns right and walks 5 metres,

then again turns right and walks 10 metres,

then turns left and walks 3 metres. Now he

turns 180° clockwise, then which direction

is Ashok facing ?

v'kksd vius ?kj ls 10 ehVj mÙkj fn'kk esa tkrk gS] ogk¡ ls
nk;sa eqM+dj 5 ehVj pyrk gSA ogk¡ ls nk;sa eqM+dj 10 ehVj
pyrk gS] ogk¡ ls ck;sa ?kqedj 3 ehVj pyrk gSA ;fn og ;gk¡
ls 180º nf{k.kkòr ?kqes rks vc mldk eq[k fdl fn'kk esa gS \

(A) East/iwoZ
(B) West/if'pe

(C) North/mÙkj
(D) South/nf{k.k

Part-I : General Intelligence and Reasoning

Hkkx&I : lkekU; cqf¼erk ,oa rdZ'kfDr
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15. Pointing towards a person in a photograph,
Anu said, " he is the only son of the father
of my sister's brother." How is the person
related to Anu ?
,d rLohj esa ,d O;fDr dh vksj b'kkjk djrs gq, vuq us
dgk] ¶og esjh cgu ds HkkbZ ds firk dk bdykSrk csVk gSA¸
og O;fDr vuq ls fdl izdkj lacaf/r gS\
(A) Anu's Father/vuq ds firk
(B) Anu's Brother/vuq ds HkkbZ
(C) Anu's Maternal Uncle/vuq ds ekek
(D) Anu's Grandfather/vuq ds nknk

16. Monday is the 29th of February this year,
then on the 29th of which month will be
Monday this year?
;fn 29 iQjojh dks lkseokj gks rks blh o"kZ fdl ekl dh 29

rkjh[k dks lkseokj gksxk \
(A) March /ekpZ (B) September/flrEcj
(C) August/vxLr (D) July/tqykbZ

17. If Add (+) means Divide (÷), Divide (÷) mean
Subtract (–), Subtract (–) mean Multiply (×),
Multiply (×) mean Add (+), then solve the
following mathematical equation : -
;fn tksM+ (+) dk eryc Hkkx (÷), Hkkx (÷) dk eryc ?kVko
(–), ?kVko (–) dk eyrc xq.kk (×), xq.kk (×) dk eryc tksM+
(+)gks rks fuEufyf[kr x.khfr; lehdj.k dks gy djsaA
12 + 6 ÷ 3 – 2 0 × 8  = ?
(A) –2 (B) 4
(C) 2 (D) 8

18. Which of the following diagrams indicates
the best relation between North America,
United state America and New York ?
fuEu esa ls dkSu&lh vkd`fr mÙkjh vesfjdk] la;qDr jkT;
vesfjdk rFkk U;w;ksdZ ds chp laca/ crkrh gS\

(A)  (B)  

(C) (D)

19. Choose the correct mirror image of the
given question fiugre from amongst the four
alternative, if MN is morror.

fn, x, pkj fodYiksa esa ls iz'u vkÑfr dk lgh niZ.k
izfrfcEc dk p;u djssa ;fn MN niZ.k gSA
Question figure/iz'u vko`Qfr%

× ×

M

N

Answer figures/mÙkj vko`Qfr;k¡%

× × × × × ×

(A)           (B)           (C)           (D)

20. Identify the figure that will complete the

pattern.

ml vkd`fr dks igpkus tks iSVuZ dks iwjk djsxhA

Question figure/iz'u vko`Qfr %

?

Answer figures/mÙkj vko`Qfr;k¡ %

(A) (B) (C) (D)

21. A piece of paper is folded and cut as shown

below in the question figures. From the

given answer figures, indicate how it will

appear when opened?

uhps iz'u vkoQ̀fr;ksa esa fn[kk;s vuqlkj dkxt dks eksM+dj
dkVus rFkk [kksyus osQ ckn og fdl mÙkj vkoQ̀fr tSls fn[kkbZ
nsxk\
Question figures/iz'u vko`Qfr;k¡ %

Answer figures/mÙkj vko`Qfr;k¡ %

(A) (B) (C) (D)

22. Select the alternative in which the question

figure can be found.

ml vkÑfr dk p;u djsa ftlesa iz'u vkÑfr fufgr gSA
Question figure/iz'u vko`Qfr%

Answer figures/mÙkj vko`Qfr;k¡%

(A) (B) (C) (D)
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23. Find the number of triangles in the given

figure ?

fuEufyf[kr vkÑfr esa f=kHkqtksa dh la[;k crk,¡ \

(A) 24 (B) 26

(C) 20 (D) 28
Directions (24): Two statement is given followed
by two conclusions I and II. You have to
consider the statement to be true, even if they
seem to be at variance from commonly known
facts. You have to decide which of the given
conclusions, if any, follow from the given

statement.

funsZ'k (24): nks dFku fn;s x;s gSa] ftuosQ vkxs nks fu"d"kZ
I rFkk II gSaA vkidksa fopkj djuk gS fd dFku lR; gS] pkgs og
lkekU;r% Kkr rF;ksa ls fHk=k izrhr gksrs gksaA vkidks fu.kZ;
djuk gS fd fn, x, fu"d"kksZa esa ls dkSu&lk fuf'pr :i ls
fn, x, dFkuksa }kjk lgh fudyrk gS] ;fn dksbZ gksA
24. Statement/dFku%

All Fruits are Leaves./lHkh iQy ifÙk;k¡ gSA
Some Fruits are Grapes./dqN iQy vaxwj gSA
Conclusions/fu"d"kZ%
I. Some Leaves are Grapes./dqN ifÙk;k¡ vaxwj gSA
II. All Grapes are fruits./lHkh vaxwj iQy gSA
(A) Only conclusion I follows.

dsoy fu"d"kZ I vuqlj.k djrk gSA
(B) Only conclusion II follows.

dsoy II vuqlj.k djrk gSA
(C) Both conclusion follows.

nksuksa fu"d"kZ vuqlj.k djrk gSA
(D) Neither conclusion I nor II follows.

u rks I uk II fu"d"kZ vuqlj.k djrk gSA

25. A word is represented by only one set of

numbers as given in any one of the

alternatives. The sets of numbers given in

the alternatives are represented by two

classes of letters as in two matrices given

below. The columns and rows of Matrix-I are

numbered from 0 to 4 and that of Matrix-II

are numbered from 5 to 9. A letter from

these matrices can be represented first by

its row and next by its column. E.g., ‘A’ can

be represented by 22,10 etc., 'P' can be

represented by 55,67 Similarly, you have to

identify the set for the word ‘NEAT’.

,d 'kCn osQoy ,d la[;k&lewg }kjk n'kkZ;k x;k gS] tSlk

fd fodYiksa esa ls fdlh ,d esa fn;k x;k gSA fodYiksa esa fn,
x, la[;k&lewg v{kjksa ds nks oxks± }kjk n'kkZ, x, gSa] tSlk fd
uhps fn, x, nks vkO;wg esa gSA vkO;wg&I ds LraHk vkSj iafDr

dh la[;k 0 ls 4 nh xbZ gS vkSj vkO;wg&II dh 5 ls 9A bu
vkO;wgksa ls ,d v{kj dks igys mldh iafDr vkSj ckn esa LraHk
la[;k }kjk n'kkZ;k tk ldrk gSA mnkgj.k ds fy, ‘A’ dks

22,10 }kjk n'kkZ;k tk ldrk gS] 'P' dks 55,67 }kjk n'kkZ;k
tk ldrk gSA blh rjg ls] vkidks 'kCn ‘NEAT’ ds fy,

la[;k lewg dks igpkuuk gSA
 Matrix-I/vkO;wg-I     Matrix-II/vkO;wg-II

  0 1 2 3 4

0 L N E A C
1 A C L N E
2 N E A C L
3 C L N E A

4 E A C L N

  

  5 6 7 8 9

5 P T O R S
6 R S P T O
7 T O R S P
8 S P T O R

9 O R S P T

(A) 44, 14, 34, 56

(B) 20, 33, 78, 75

(C) 13, 40, 67, 99

(D) 32, 21, 41, 68
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Part-II : General Awareness

Hkkx&II : lkekU; tkudkjh
26. Which state has been declared India's

second 'Open Defecation Free (ODF)' state?

fdl jkT; dks Hkkjr dk nwljk ¶[kqys esa 'kkSp eqDr¸ jkT;
?kksf"kr fd;k gS\
(A) Kerala/dsjy
(B) Assam/vle
(C) Himachal Pradesh/fgekpy izns'k
(D) Odisha/mM+hlk

27. Which country has won the 2016 Asian
Men's Hockey Champions Trophy?

fdl ns'k us 2016 ,f'k;kbZ iq:"kksa dh gkWdh pSfi;al VªkWiQh
thrh gS\
(A) Pakistan/ikfdLrku
(B) Malaysia/eysf'k;k
(C) India/Hkkjr
(D) Japan/tkiku

28. Which of the following is called "brown
paper"?

fuEufyf[kr esa ls fdls ^czkmu isij* dgk tkrk gS\
(A) Jute/twV (B) Cotton/dikl
(C) Rubber/jcM+ (D) Tea/pk;

29. What is the India's position at the 2016
Global Youth Development Index (YDI)?

oSf'od ;qok fodkl lwpdkad (YDI) 2016 esa Hkkjr fdl
LFkku ij gS\
(A) 112th (B) 133rd

(C) 98th (D) 130th

30. Pneumoconiosis affects the worker who
works mainly in:

Dyksexksykeq:X.krk jksx eq[; :i ls fdl dk;Z esa yxs
deZpkfj;ksa dks izHkkfor djrk gS\
(A) Tanneries/peM+s dk dkj[kkuk
(B) Coal mining industry/dks;yk [kuu m|ksx
(C) Distillery/vklouh m|ksx
(D) Glass industry/Xykl m|ksx

31. Energy crisis is a consequence of:

ÅtkZ ladV fdldk ifj.kke gS\
(A) Excessive costs in generating energy/

ÅtkZ mRiknu esa Hkkjh fxjkoV
(B) Fear of using certain energy source due

to pollution/iznw"k.k ds dkj.k dqN ÅtkZ L=kksrksa dk
iz;ksx djus ds Hk;

(C) Excessive use of non-renewable source

of energy/ÅtkZ ds vuohdj.kh; L=kksrksa ds vf/d
iz;ksx

(D) Non-availability of source of energy/ÅtkZ
ds L=kksrksa dh vuqCy/rk

32. Antarctica's which sea has been declared
as world's largest marine protected area?

vaVkdZfVdk ds fdl lkxj dks nqfu;k dk lcls cM+k leqnzh
lajf{kr {ks=k ?kksf"kr fd;k x;k gS\
(A) Caspian Sea/dSfLi;u lkxj
(B) Black Sea/dkyk lkxj
(C) Ross Sea/jkWl lkxj
(D) Dead Sea/er̀ lkxj

33. Match List-I (Physiological processes) with
List-II (Cell organelle) and select the correct
answer by using the codes given below:

lwph-I ('kkjhfjd izfØ;kvksa) dks lwph-II (dksf'kdk vaxd)
ls lqesfyr dj uhps fn, x, lwfp;ksa ds izof̀"V;ksa esa ekStwn
dwVksa dk mi;ksx djds lgh mÙkj dk p;u djsaA

List-I/lwph-I List-II/lwph-II
a. Photosynthesis/ 1. Plasma membrane

izd'k la'ys"k.k IykTek f>Yyh
b. Mineral uptake/ 2. Chloroplast/

[kfut pkyd DyksjksIykLV
c. Respiration/ 3. Mitochondria/

'olu ekbVksdkWfUMª;k
d. Protein synthesis/ 4. Ribosomes/

izksVhu jkbckslkse
Codes/dwV%

a b c d
(A) 1 2 3 4
(B) 1 2 4 3
(C) 2 1 3 4
(D) 2 1 4 3

34. Which one of the following element is
essential for the construction of nuclear
reactors?

fuEufyf[kr esa ls dkSu&lk ,d rRo ijek.kq fj,DVjksa ds
fuekZ.k ds fy, vko';d gS\
(A) Cobalt/dksckYV
(B) Nickel/fufdy
(C) Zirconium/ftjdksfu;e
(D) Tungsten/VaxLVu

35. Kristalina Georgieva, who has been
appointed chief executive of the World Bank
(WB), is of which country?

fØLVsfyuk tkWxhZ;o ftudks fo'o cSad (WB) dk eq[;
dk;Zdkjh vf/dkjh fu;qDr fd;k x;k gS] og fdl ns'k ls
lacaf/r gS\
(A) Israel/btjkby (B) Germany/teZuh
(C) France/Úkal (D) Bulgaria/cqYxkfj;k
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36. With reference to 'fly ash' produced by the

power plants using coal as fuel, which of the

following statements is/are correct?

fctyh la;a=kksa esa bZa/u ds :i esa dks;ys dk mi;ksx dj
mRikfnr jk[k ds lanHkZ esa] fuEu esa ls dkSu&lk dFku lgh gS\
1. Fly ash can be used in the production

of bricks for building construction./

Hkou fuekZ.k esa bZaVksa ds mRiknu ds fy, jk[k dk
bLrseky fd;k tkrk gSA

2. Fly ash can be used as a replacement

for some of the Portland cement

concrete./iksVZySaM lhesaV daØhV ds izfrLFkkiu ds
:i esa jk[k dk bLrseky fd;k tkrk gSA

3. Fly ash is made up of silicon dioxide and

calcium oxide only, and does not

contain any toxic elements./jk[k ls dsoy
flfydkWu MkbvkWDlkbM vkSj dSfY'k;e vkWDlkbM curk
gS vkSj ;g fdlh Hkh tgjhys rRoks esa 'kkfey ugh gksrkA

(A) 1 and 2/1 vkSj 2
(B) Only 2/dsoy 2
(C) 1 and 3/1 vkSj 3
(D) Only 3/dsoy 3

37. Living organisms require at least 27

elements, of which 15 are metals. Among

these, those required in major quantities,

include:

thfor izkf.k;ksa esa de ls de 27 rRoksa] ftuesa ls 15 /krqvksa
dh vko';drk gksrh gSA buds izeq[k ek=kk esa vko';d
'kkfey rRo gS&
(A) Potassium, manganese, molybdenum

and calcium/iksVSf'k;e] eSaxuht] eksfyCMsue vkSj
dSfY'k;e

(B) Potassium, molybdenum, copper and

calcium/iksVSf'k;e] eksfyCMsue] rkack vkSj dSfY'k;e
(C) Potassium, sodium, magnesium and

calcium/iksVSf'k;e] lksfM;e] eSXuhf'k;e vkSj
dSfY'k;e

(D) Sodium, magnesium, copper and

manganese/lksfM;e] eSXuhf'k;e] rkack vkSj
eSaxuht

38. Who spoke: "At the stroke of midnight, when

the world sleeps, India awakes to life and

freedom"?

;g fdlus dgk Fkk ¶bl le; eè;jkf=k gksrs gh] tc lalkj
lks jgk gS] Hkkjr thou rFkk Lora=krk ds fy, tkx mBk gSA¸
(A) Subhas Chandra Bose/lqHkk"kpanz cksl
(B) Mahatma Gandhi/egkRek xka/h
(C) Jawaharlal Nehru/tokgjyky usg:
(D) C. Rajgopalchari/lh- jktxksikykpkjh

39. Which one of the following planets has no
moon?

fuEufyf[kr esa ls fdl xzg dk dksbZ pkan ugh gS\
(A) Mars/eaxy (B) Neptune/usIP;wu
(C) Mercury/cq/ (D) Pluto/IywVks

40. Match List-I with List-II and select the
correct answer using the codes given below
the lists.

lwph-I dks lwph-II ls lqesfyr dj uhps fn, x, lwfp;ksa ds
izof̀"V;ksa esa ekStwn dwVksa dk mi;ksx djds lgh mÙkj dk p;u
djsaA

             List-I List-I
(Award Prize)/ (Recipient)/

vokWMZ iqjLdkj izkIrdrkZ
a. Indira Gandhi 1. Archibishop

Prize for/bafnjk Desmond Tutu

xka/h iqjLdkj Peace,  Disarmament

and Development/

vkdZfc'ki MsleaM VwVw
'kkafr] fujL=khdj.k vkSj
fodkl ds fy,

b. Jamnalal Bajaj 2. Dr. Gurudev

Award/teukyky Khush/MkW- xq:nso dq'k
ctkt iqjLdkj

c. International 3. Dr. M.S.
Gandhi Peace Swaminathan/

Prize/varjkZ"Vªh; MkW- ,e-,l- LokehukFku
xka/h 'kkafr iqjLdkj

d. World Prize/ 4. Nelson Mandela/

fo'o iqjLdkj usYlu eaMsyk
Codes/dwV%

a b c d
(A) 1 3 4 2
(B) 3 1 4 2
(C) 1 3 2 4
(D) 3 1 2 4

41. ‘MOV’ extension refers usually to what kind

of file ?

‘MOV’  ,DlVsa'ku vkerkSj ij fdl izdkj dh iQkby dk
mYys[k djrk gS ?
(A) Image file / best iQkby
(B) Animation/movie file / ,fues'ku@ewoh iQkby
(C) Audio file / vkWfM;ks iQkby
(D) MS Office document / ,e,l vkWfiQl MkD;wesaV

42. Which one of the following is used for sun

glasses?

/wi ds p'es ds fy, fdl dkap dk iz;ksx fd;k tkrk gS\
(A) Pyrex glass/ikbjsDl dkap
(B) Flint glass/fÝyaV dkap
(C) Crooks glass/ØwDl dkap
(D) Crystal glass/fØLVy dkap
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43. What are Rubies and Sapphires chemically

known as?

ekf.kd vkSj uhye dks fdl jklk;fud :i ls tkuk tkrk
gS\
(A) Silicon dioxide/flfydkWu MkbvkWDlkbM
(B) Aluminum oxide/,Y;wehfu;e vkWDlkbM
(C) Silicon oxide/flfydkWu vkWDlkbM
(D) Boron nitride/cksjkWu ukbVªkbM

44. Corporation tax is a tax imposed on

fuxe dj fdl ij yxk;k tkrk gS\
(A) The net incomes of the companies/

dEifu;ksa dh dqy vk;
(B) The corporate properties

dkWjiksjsV fo'ks"krk,a
(C) The utilities provided by the corporation

fuxe }kjk iznku dh xbZ mi;ksfxrk,a
(D) Tax imposed by the corporation on

individual properties

fuxe }kjk O;fDrxr fo'ks"krkvksa ij yxk;k x;k dj
45. Which of the following is a non metal that

remains liquid at room temperature ?

fuEufyf[kr esa ls dkSu&lh v/krq lkekU; rkieku ij rjy
jgrh gS ?

(A) Phosphorous / iQkLiQksjl

(B) Bromine / czksfeu

(C) Chlorine / Dyksfju

(D) Helium / fgfy;e
46. The innovator of the Revenue settlement

during the rule of Akbar was

vdcj ds 'kklu ds nkSjku jktLo mifuos'k ds izoZrd dkSu
Fks\
(A) Raja Man Singh/jktk ekuflag
(B) Raja Bhagwan Das/jktk Hkxoku nkl
(C) Raja Todarmal/jktk VksMjey
(D) Raja Birbal/jktk chjcy

47. During which Five-Year Plan did India lay

down the objective of the need to ensure
environmental sustainability of the
development strategy?

fdl iapo"khZ; ;kstuk ds rgr Hkkjr us fodkl ifj;kstuk dh
i;kZoj.kh; fLFkjrk dks lqfuf'pr djus dh vko';drk dk
mís'; j[kk\
(A) 6th Five Year Plan/NBh iapo"khZ; ;kstuk
(B) 7th Five Year Plan/lkroha iapo"khZ; ;kstuk
(C) 8th Five Year Plan/vkBoha iapo"khZ; ;kstuk
(D) 9th Five Year Plan/ukSoha iapo"khZ; ;kstuk

48. Who constitutes the Finance Commission
after every five years?

izR;sd ik¡p o"kZ ckn foÙk vk;ksx dk xBu dkSu djrk gS\
(A) The Council of Ministers/eaf=kifj"kn~
(B) The Parliament/laln
(C) The President/jk"Vªifr
(D) The Comptroller and Auditor General/

fu;a=kd ,oa egkys[kk ijh{kd
49. Hitler party which came into power in 1933

was known as

1933 esa lÙkk esa vkbZ fgVyj ikVhZ dks fdl uke ls tkuk
tkrk Fkk \
(A) Labour Party/yscj ikVhZ
(B) Nazi Party/ukth ikVhZ
(C) Ku-Klux-Klan/ds;q&DyDl&Dyku
(D) Democratic Party/MseksØsfVd ikVhZ

50. The members of Parliament can express

themselves in the House in

laln ds lnL; lnu esa [kqn dks fdl Hkk"kk esa vfHkO;Dr dj
ldrs gSa ?
(A) English only / dsoy vaxzsth
(B) Hindi only / dsoy fgUnh
(C) English or Hindi / vaxzth ;k fgUnh
(D) English, Hindi or mother tongue / vaxzsth]

fgUnh ;k ekr` Hkk"kk
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Part-III : Quantitative Aptitude

Hkkx&III : ek=kkRed vfHk{kerk
51. Each of the two circles of equal radii with

centres at A and B pass through the centre
of one another. If they cut each other at C
and D, then DBC is equal to:

leku f=kT;k okys nks òÙk ftuds dsUnz A rFkk B gS] ,d&nwljs
ds dsUnz ls xqtjrs gSA ;fn os ,d&nwljs ds fcUnq C vkSj D
ij dkVrs gks] rks DBC gS&
(A) 60° (B) 100°
(C) 120° (D) 140°

52. Virat travelled a distance of 75 km in
7 hrs. He went some distance at the rate of
12 km/hr and the rest at 10 km/hr. How
far did he travel at the rate of 12 km/hr?

fojkV 75 fdeh- dh nwjh 7 ?k.Vksa esa r; fd;k gSA mlus dqN
nwjh 12 fdeh-@?k.Vk dh xfr ls rFkk 'ks"k nwjh 10 fdeh-@?k.Vk
dh xfr ls r; fd;kA mlus 12 fdeh-@?k.Vk dh xfr ls
fdruh nwjh r; dh\
(A) 30 km/fdeh- (B) 25 km/fdeh-
(C) 40 km/fdeh- (D) 35 km/fdeh-

53. (a2 + 2a)2 + 12(a2 + 2a) – 45 can be expressed
as:

(a2 + 2a)2 + 12(a2 + 2a) – 45 dks n'kkZ;k tk ldrk
gS&
(A) (a – 1)(a + 3)(a2 + 2a + 15)

(B) (a + 1)(a + 3)(a2 + 2a + 15)
(C) (a + 1)(a – 3)(a2 + 2a + 15)
(D) (a – 1)(a – 3)(a2 + 2a + 15)

54. A and B invest into a business in the ratio
5 : 4. If 10% of the total profit goes to charity
and A's profit share is  ̀  7500, then the total
profit is:

A vkSj B ,d O;olk; esa 5 : 4 ds vuqikr esa jkf'k fuos'k
djrs gSA muds ykHk dk 10% nku esa tkrk gS rFkk ykHk esa
A dk fgLlk ` 7500 gS] rks dqy ykHk D;k gS\
(A) ` 7500 (B) ` 15,000
(C) ` 12,000 (D) ` 10,000

55. A boatman goes 2 km against the stream
in 2 hour and goes 1 km along the current
in 20 minutes. How long will it take to go 5
km in stationary water?

,d dsoV /kjk ds foijhr fn'kk esa 2 fdeh- 2 ?k.Vs esa tkrk
gS rFkk 1 fdeh- /kjk dh fn'kk esa 20 feuV esa tkrk gSA 'kkar
ty esa 5 fdeh- tkus ds fy, fdruk le; yxsxk\
(A) 2 hr 30 min/2 ?k.Vs 30 feuV
(B) 2 hr/2 ?k.Vs
(C) 4 hr/4 ?k.Vs
(D) 1 hr 15 min/1 ?k.Vk 15 feuV

56. Side BC of ABC is produced to D. If ACD =

140° and ABC = 3BAC, then find A.

ABC dh Hkqtk BC dks D rd c<+k;k x;kA ;fn ACD

= 140° vkSj ABC = 3BAC gks] rks A dk eku

fudkysaA
(A) 45° (B) 55°

(C) 35° (D) 60°

57. 3 pumps, working 8 hours a day, can empty

a tank in 2 days. How many hours a day

should 4 pumps work in order to empty the

tank in 1 day?

3 iEi izfrfnu 8 ?k.Vs dke djds fdlh VSad dks 2 fnu esa
[kkyh dj ldrs gSA 4 iEiksa dks mlh VSad dks 1 fnu esa [kkyh
djus ds fy, izfrfnu fdrus ?k.Vs dke djuk pkfg,\
(A) 10 (B) 12

(C) 8 (D) 15

58. The least number which should be added to

28523 so that the sum is exactly divisible

by 3, 5, 7 and 8 is:

og lcls la[;k fudkysa] ftls 28523 esa tksM+us ij ;ksx
iw.kZr% 3, 5, 7 vkSj 8 ls foHkkftr gks tkrh gSA
(A) 41 (B) 42

(C) 32 (D) 37

59. In an acute angled ABC, if sin 2(A + B – C)

= 1 and tan (B + C – A) = 3 , then the value

of B is:

U;wudks.k ABC esa] ;fn sin 2(A + B – C) = 1 vkSj

tan (B + C – A) = 3  gks] rks B dk eku gS&

(A) 60° (B) 30°

(C)
1

52
2
 (D)

1
68

3


60. The top of a 15 m high tower makes an

angle of elevation of 60° with the bottom of

an electronic pole and angle of elevation of

30° with the top of the pole. What is the

height of the electic pole?

15 eh- Å¡pkbZ okys ehukj dk fctyh [kEHks ds vk/kj ls

mUu;u dks.k 60° gS rFkk [kEHks ds 'kh"kZ ls mUu;u dks.k 30°

gSA fctyh ds [kEHks dh Å¡pkbZ D;k gS\
(A) 5 m/eh-

(B) 8 m/eh-
(C) 10 m/eh-
(D) 12 m/eh-
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61. Printed price of an article is ` 900, but the

retailer gets a discount of 40%. He sells the

article for ` 900. Retailer's gain percent is:

fdlh oLrq dk vafdr ewY; ` 900 gS] fdUrq ,d [kqnjk
O;kikjh mls 40% dh NwV ij izkIr djrk gS vkSj ml oLrq
dks ̀  900 esa xzkgd dks csp nsrk gSA [kqnjk O;kikjh dk ykHk
izfr'kr gS&
(A) 40 (B) 60

(C)
2

66
3

(D)
1

68
3

62. Two vessels A and B contain wine and water

in the ratio 5 : 2 and 7 : 6 respectively. Find

the ratio in which these mixtures be mixed

to obtain a new mixture in vessel C

containing wine and water in the ratio 8 : 5.

nks ik=k A vkSj B esa 'kjkc vkSj ikuh dk vuqikr Øe'k%
5 : 2 vkSj 7 : 6 gSA bu nksuksa feJ.kksa dks fdl vuiqkr esa
feyk;k tk, rkfd ik=k C esa u, feJ.k dk vuqikr 8 : 5

gks tk,\
(A) 3 : 4 (B) 4 : 3

(C) 9 : 7 (D) 7 : 9

63. 8 taps through which water flow at the same

rate can fill a tank in 30 minutes. If two

taps go out of order, how long will the

remaining taps take to the fill the tank?

leku {kerk ds 8 uy ,d VSad dks 30 feuV esa Hkj ldrs
gSA ;fn nks uy [kjkc gks tk,] rks cps gq, uy mlh VSad dks
Hkjus esa fdruk le; ysaxs\
(A) 35 min/feuV (B) 37 min/feuV
(C) 40 min/feuV (D) 38 min/feuV

64. If x2 + 4x + 3 = 0, then the value of

3

6 327 27

x

x x 
 is:

;fn x2 + 4x + 3 = 0 gS] rks 
3

6 327 27

x

x x 
 dk eku

gS&

(A)
1

–
2

(B) 1

(C)
1

2
(D) –1

65. A discount of 15% on one article is the same

as discount of 20% on a second article. The

costs of the two articles can be:

,d oLrq ij 15% dh NwV] fdlh nwljh oLrq ij 20% dh
NwV ds cjkcj gks] rks mu oLrqvksa dk Ø; ewY; gks ldrk gS&
(A) ` 85, ` 60 (B) ` 60, ` 40

(C) ` 40, ` 20 (D) ` 80, ` 60

66. If the average of 10%, 25%, 50% and 75% of

a number is 24, then the number will be:

fdlh la[;k ds 10%, 25%, 50% vkSj 75% dk vkSlr
24 gks] rks la[;k gksxh&
(A) 50 (B) 60

(C) 70 (D) 80

67. Total simple interest of ` 929.20 is fetched

on a sum at the rate of 8 p.c.p.a. in 5 years.

What is the sum?

og jkf'k Kkr dhft, ftldk 8% izfr o"kZ dh nj ls 5 o"kZ
dk lk/kj.k C;kt ` 929.20 gks\
(A) ` 2323 (B) ` 1223

(C) ` 2563 (D) ` 2353

68. The product of the ages of Heer and Ranjha

is 240 years. The sum of the age of Heer

4 years hence and Ranjha 10 years ago is

25 years. Find the persent age of Ranjha.

ghj vkSj jka>k dh vk;q dk xq.kuiQy 240 o"kZ gSA ghj dh
4 o"kZ ckn dh vk;q vkSj jka>k dh 10 o"kZ igys dh vk;q dk
;ksx 25 o"kZ gks] rks jka>k dh orZeku vk;q Kkr djsaA
(A) 16 years/o"kZ
(B) 14 years/o"kZ
(C) 12 years/o"kZ
(D) None of these/buesa ls dksbZ ugha

69. A can do a particular work in 6 days. B can

do the same work in 8 days. A and B signed

to do it for ̀  32000. They completed the work

in 3 days with the help of C. How much is to

be paid to C?

A fdlh dke dks 6 fnu esa dj ldrk gS rFkk B mlh dke
dks 8 fnu esa dj ldrk gSA A rFkk B us ` 32000 esa
feydj dke djus dk Bsdk fy;kA mUgksaus C dh lgk;rk ls
dke dks 3 fnu esa lekIr fd;kA C dks muds }kjk fdruk
jde vnk djuk gS\
(A) ` 3800 (B) ` 6000

(C) ` 4200 (D) ` 4000

70. Find the value of 1 + 2 sec2 A tan2 A – sec4 A

– tan4 A.

1 + 2 sec2 A tan2 A – sec4 A – tan4 A dk eku
fudkysaA
(A) 3 (B) 0

(C) 2 (D) 1

71. If the perimeters of an equilateral triangle

and that of a square are equal, then the ratio

of their areas will be:

;fn fdlh leckgq f=kHkqt rFkk oxZ dh ifjfefr leku gks] rks
muds {ks=kiQyksa dk vuqikr gksxk&

(A) 4 : 3 (B) 4 : 3

(C) 4 : 3 3 (D) 4 : 2 3
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72. 0.15% of 
1

33 %
3

 of ` 10,000 is:

` 10,000 ds 
1

33 %
3

 dk 0.15% fdruk gksxk\

(A) ` 5 (B) ` 150

(C) ` 0.05 (D) ` 1.05

Direction (73-75) : The following graph shows

the Profits and Losses, (` in thousand) in a

business for the years 2006-2011. Study the

graph and answer the questions.

funsZ'k (73-75) : fn, x, n.M vkjs[k o"kZ 2006-2011 rd
ds fdlh O;olk; ds ykHk rFkk gkfu dks n'kkZrk gSA n.M vkjs[k
dk vè;;u djsa rFkk iz'uksa dk mÙkj nsaA

5

4

3

2

1

0.5

2006 2007 2008 2009 2010 2011

Years/o"kZ

A
m

o
u
n

t 
(

 i
n
 l
a
k

h
)/

`

jk
f'
k 
(y

k[
kksa 

esa)

Loss/gkfu
Profit/ykHk

73. The ratio of the maximum profit earned to

the minimum loss suffered is:

vf/dre ykHk vkSj U;wure gkfu dk vuqikr gS&
(A) 4 : 3 (B) 3 : 4

(C) 9 : 2 (D) 2 : 9

74. The amount of total loss incurred during

2006-2011 is:

o"kZ 2006-2011 rd dqy gkfu gS&
(A) ` 3 lakh/yk[k
(B) ` 2.5 lakh/yk[k
(C) ` 1.5 lakh/yk[k
(D) ` 2 lakh/yk[k

75. If the loss is x% of the profit for given years,

then x is:

;fn fn, x, o"kksZa esa gkfu] dqy ykHk dk x% gks] rks x gS&
(A) 15 (B) 25

(C) 20 (D) 19
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Part - IV (English Language)

Direction : In Question nos. 76 to 78 some part
of the sentences have errors and some are
correct. Find out which part of a sentence has
an error and blacken the oval [ ]
corresponding to the appropriate letter (A), (B),
(C). If a sentence is free from error, blacken the
oval corresponding to (D) in the Answer Sheet.

76. The Prime Minister along with his Cabinet
colleagues (A)/ have been welcomed by the
Chief Minister (B)/ at a formal ceremony.
(C)/ No error (D)

77. There is (A)/ a silver lining (B)/ on every
cloud. (C)/ No error (D)

78. On receiving the mark-sheet from the
University (A)/ I realised (B)/ that I had got
only passing marks in English. (C)/ No error
(D)

Directions : In Question nos. 79 to 81,
sentences given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative out of the four and indicate it by
blackening the appropriate oval [ ] in the
Answer Sheet.

79. We shall go for a picnic if the weather _____
good.
(A) is (B) was
(C) has been (D) had been

80. The teacher found many mistakes in my
composition, when she went ______ it.
(A) into (B) about
(C) for (D) through

81. John must have the ______ to stick to his
diet, if he wants to lose weight.
(A) obstinacy (B) determination
(C) decision (D) obligation

Directions : In question nos. 82 to 83, out  of

the four alternatives, choose the one which best

expresses the meaning of the given word.

82. MELLOW

(A) Melodious (B) Dramatic

(C) Genial (D) Fruity

83. CIRCUITOUS

(A) Short (B) Roundabout

(C) Circular (D) Different

Directions : In question nos. 84 to 85, choose

the word opposite in meaning to the given word.

84. ACQUITTED

(A) Jailed (B) Exonerated

(C) Convicted (D) Accused

85. GRADUAL

(A) Unscrupulous (B) Dynamic

(C) Rapid (D) Enthusiastic

Directions : In question nos. 86, four words are

given in each question, out of which only one

word is spelt correctly/wrongly out of them.

Find the word spelt correct/wrong and mark

your answer in the Answer Sheet.

86. (A) Accessibility (B) Acsessibility

(C) Accessebility (D) Acessibility

Direction : In Question nos. 87 to 89, four

alternative are given for the Idiom/Phrase in

bold in below sentences. Choose the

alternative which best expresses the meaning

of the Idiom/Phrase and mark it in the Answer

Sheet.

87. Who are we to sit in judgement over their

choices?

(A) lecture (B) criticize

(C) speak (D) communicate

88. He was pulled up by the director of the

company.

(A) assaulted

(B) dragged

(C) reprimanded

(D) cleared

89. The storm brought about great destruction

in the valley.

(A) invited (B) caused

(C) succeeded (D) halted

Direction: In Question nos. 90 to 92, a

sentence/ a part of the sentence is italicised

in underlined. Below are given alternatives to

the italicised part at (A), (B), (C) which may

improve the sentence. Choose the correct

alternative. In case no improvement is needed

your answer is (D). Mark your answer in the

Answer Sheet.

90. You should be always greatful to your mentor.

(A) greatful towards

(B) grateful to

(C) ingratiating for

(D) No improvement

91. At his return we asked him many questions.

(A) as he returns

(B) on his return

(C) while returning back

(D) No improvement
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92. Most people are afraid of swine flu these

days.

(A) most of the people are afraid of

(B) almost all the people were afraid for

(C) many people afraid of

(D) No improvement

Direction : In Question nos. 93 to 95, in the

following question, out of the four alternatives,

choose the one which can be substituted for

the given sentence.

93. To be dogmatic in one's opinions

(A) Plaintive (B) Opinionated

(C) Undoubtable (D) Secular

94. An agreement between two countries or

groups to stop fighting

(A) Compromise (B) Ceasefire

(C) Outpost (D) Protocol

95. Full of criticism and mockery

(A) Discrimination (B) Ridicule

(C) Satire (D) Contempt

Direction (Q. No- 96 - 100) : In these question

you have two brief passages with six questions

following the passage. Read the passage

carefully and choose the best answer to each

question out of the four alternatives.

Passage – 1

As society becomes more and more affluent,
people would prefer to work shorter hours at their
regular employment so that they may enjoy
longer hours of leisure during which they can

indulge in more congenial activities. They will
not like to waste their leisure time performing
routine domestic chores which tend to sap their
energy. The idea of a robot slave which would be

capable of performing many of these monotonous
chores is one that will appeal to many. Already
robots are used in mines and factories to perform

tasks which are too risky for human beings. It
takes a lot of research by dedicated scientists
and sufficient financial backing for a model to be
developed to perform a new task. This in turn

depends on the number of people who feel the

need for a robot to perform these specific tasks.
The problem of designing a robot capable of
performing various routine tasks around the

house is response mechanism and source of
power, which can be programmed to perform
certain specific tasks, is not impossibility.

96. In an affluent society, people prefer to work
shorter hours because
(A) they are lazy

(B) they do not have the strength to work
(C) they want time to carry out other

activities
(D) they abhor their work

97. Domestic chores
(A) are welcome by housewives
(B) are too demanding
(C) lead to family discord

(D) are too time-consuming
98. Robots are already used in mines and

factories to perform
(A) hazardous tasks

(B) tasks with greater efficiency than
human beings

(C) tasks which lead to economy in the
operations

(D) tasks which are forbidden by the labour
laws

99. Developing a robot capable of performing a
new task

(A) is difficult for the scientists

(B) is impossible for the scientists

(C) requires huge capital

(D) depends on the number of people who

require it

100. The problem of designing a robot capable of

performing various routine tasks around the

house is not

(A) insurmountable

(B) surmountable

(C) real

(D) virtual
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